(32024 SvTHINEEAEELT F2Y)—Y

2024/4/21 RESEHLE
B¥17avsy 64— LKW/ —TRENT—D
NO, TPIN TER i1 1 2 3 BSER | B3R | IRGL
11 10702|X;8 &13 TSRV XEALIER 60 60 2-1 1
2| 11319(gE%& AR FIITJITC 06 16 0-2 3
3| 11223| K=K £ BTA 06 61 1-1 2
B¥270v) 6 —LEW/—TENIT—D
NO, TPIN TER i1 4 5 6 BsRK (BEE | IRGL
4] 10371 |F& HF BTAT=X 61 60 2-0 1
5| 11258\ X% #MFth |Antelope 16 36 0-2 3
6| 10877(RhZE 1% ArSYRJTC 06 63 1-1 2
BF¥37av9 64— LKW/ —TFRNT—D
NO, TPIN BEZ iR 7 8 9 BSER | B3 | IRGL
7| 10713|pa&Ep HEZS Eastdr.7=R457 60 16 1-1 2
8| 11349|{Rk LN B | 06 06 0-2 3
9| 10659(#1L BR BTA 61 60 2-0 1
ZF17avH 6 —LEW/—TFRENT—D
NO, TPIN BEZ i1 1 2 3 BSER | B3R | IRGL
1| 11038|#iE ¥t ITSRILX 60 60 2-0 1
2| 11357|8R%Er 8% TSR R 06 61 1-1 2
3| 11286| ik & Antelope 06 16 0-2 3
ZF270av9 6 —LEWM/—TRENT—D -2 R S RAIELTEELY
NO, TPIN BEZ 77 4 5 6 7 || BSER |BSEE | IRGL
4] 11251518 BEE FIIJTC 56 26 64 | 1-2 3
5| 11362 (BI&R b3 TSR 65 26 62 || 2-1 2
6| 11265|&ZE WA WITC 62 62 62 | 3-0 1
71 11334|[@iE (FDTE  |Ts~nzxmumnes | 46 26 26 0-3 4
ZF3JTavH 64— LKW/ —TFRNT—D 2-2h ik A B L TS0
NO, TPIN BEZ iR 8 9 10 11 | BB B3 | B
8| 11253|%:E (HyE8 ITSRILZIW=/N 36 26 63 || 1-2 3
9| 11305|/M#2 854K |Antelope 63 64 62 | 3-0 1
10 11364|81H AN |[TFRIY 62 46 63 || 2-1 2
11] 11359|BRAER BH  |Tsuxwanmrss| 36 26 36 0-3 4




BFREib—FAF 65— LI/ —TF RN TF—

TPIN %EX iR 1R SF F
o 10702 XBRE  ITSAAX g um
No,2
BYE A B
NS 0713 mmmE  esstrrzaosT— B N
No,4 - 62 i
11223 B f# BTA —— P
:g,f-ﬂﬁ 10659 #21li i BTA  |we >
No® 0877 Bk i 2k59kdTc — 1 O £ 55
No,7 60
BYE L
No8 10871 = 58 BTAT=2
NO,2-14t
TFRE—F A 65 —LKB/—FRNUTF—S
PN #HEx Z ] 1R SF F
o 11008 AL Tsx FRES L
No,2
BYE i Bt
No,3 = 3
11357 RBF BE  SRUVERE T g em
No,4 e = = 63 "
11364 ®iH ¥HNIhE TR ——— qﬂﬂf%t
:g::.uﬁ 11305 /M BEA R Antelope ~ —— I B AR b
Nob 11362 mm g Tsmoy — 1 O S
No,7 62
BYE R
No8 11265 miz mm SEITC

NO,2-14k



